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WRITING LINEAR EQUATIONS HOMEWORK
[image: image1.png]1. Tofind an equation for the line with slope —3 that passes through the
point (4, 3), Dana wrote the following steps. Is he correct? Explain.

y=-3x+b,503=-3(4)+b
This means b= 15 andy = ~3x +15.




For questions 2-4
· Write the equation of the line algebraically

· Graph it (graph paper given in class)
· Write a real-life situation

[image: image2.png]2. aline with slope —1 and passing through the point (1, 4)
5. aline with slope + and passing through the point (3, 3)

4. aline with slope —2 and passing through the point (3, 6)




